o—o oo =L 66 6—0 addition de fractions ( le méme dénominateur )

Nom: Date: Note:
I 1 4 2
— 4+ - = — 4 — =
5 5 8 8
3 3 1 3
4+ = — 4 - =
2 2 7 7
3.3 4 4
8 8 9 9
3 1 7 1
7 7 8 8
4 1 2 2
9 9 7 7
5 3 1 4
7 7 5 5
5 1 1 3
40 = — 4+ = =
2 22 22 2
1 1 6 3
1=+ == Sy =
3 3 8 8
2 1 72
— 4+ - = — 4 — =
9 9 8 8
5 4 7 1
4 - = — 4 — =
9 9 3 3
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o—o Ollp =L SH6 649 addition de fractions ( le méme dénominateur )

Nom: Date: Note:
1 1 2 4 2 3
4+ _ == — 4+ ==
5 5 5 8 8 4
3 3 1 3 4
—+-_=3 4+ =
2 2 77
3 3 3 4 4 38
4+ == —t - = =
8 8 4 9 9 9
3 1 4 7 1
=2 —+ - =1
7 7 8 8
4 1 5 2 2 4
—4+ == 4+ =
9 9 9 77 7
5 3 8 1 1 4
—+=—==-=1= —+-=1
77 7 5 5
5 1 1 3
490 = — 4+ - =
2 22 . 22 2 4
1 1 5 2 1
l-+-=2=1% 60,3241
3 3 3 3 8§ 8 8 8
2 1 1 7 2 9 1
Sh o= —+Z=2=1-=
9 9 3 8 8 8 8
5 4 7 1 8 2
—+-=1 —F+ —=—=2—
9 9 3 3 3 3
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